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el @ —br), | (@~ b)

aq —b1 :Ckl s az—bzzckz

ay =by+cky, ap =by + cky

a X ay = (bl —|—Ck1) X (b2 —|—Ck2)

ay X ap = by X by + by X cko + cky X by + cky X cka
ap X ay = b] X bz + C(blkz + k1b2 + Cklkz)

Let ks = biky + k1by + ckiky

ay X ap = by X by + cks
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a = b (mod c)

@ ay=by, ay=by (modc) = a; X a, =b; X b, (mod ¢)

el @ —br), | (@~ b)

611—[91 :Ckl s az—bzzckz

ay =by+cky, ap =by + cky

a X ay = (bl —|—Ck1) X (bz—i—Ckz)

ay X ap = by X by + by X cko + cky X by + cky X cka
ayp X ax :bl X b2+C(b1k2+k1b2+Ck1k2)

Let ks = biky + k1by + ckiky

ay X ap = by X by + cks

ai Xaz—bl szzck3
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@ ay=by, ay=by (modc) = a; X a, =b; X b, (mod ¢)

el @ —br), | (@~ b)

611—[91 :Ckl,az—bzzckz

ay =by+cky, ap =by + cky

a X ay = (bl —|—Ck1) X (b2 —|—Ck2)

ay X ap = by X by + by X cko + cky X by + cky X cka
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a = b (mod c)
i) Assume the statement is true for n = k.

/min7014.iptime , E-mail :min7014 @nate.com


http://min7014.iptime.org

a = b (mod c)

@ a=b(modc) = d"=D" (mod c)

1) The statement is true for n = 1.
a = b (mod c)

i) Assume the statement is true for n = k.
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@ a=b(modc) = d"=D" (mod c)

1) The statement is true for n = 1.
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i) Assume the statement is true for n = k.
a=b, d =b(mod c)
ax a =bx b(mod c)
a*! = p**1(mod ¢)
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@ a=b(modc) = d"=D" (mod c)

1) The statement is true for n = 1.
a = b (mod c)
i) Assume the statement is true for n = k.
a=b, d =b(mod c)
ax a =bx b(mod c)
a*! = p**1(mod ¢)
The statement is true forn =k + 1.
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1) The statement is true for n = 1.
a = b (mod c)
i) Assume the statement is true for n = k.
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The statement is true forn =k + 1.
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@ a=b(modc) = d"=D" (mod c)

1) The statement is true for n = 1.
a = b (mod c)
i) Assume the statement is true for n = k.
a=b, d =b(mod c)
ax a =bx b(mod c)
a*! = p**1(mod ¢)
The statement is true forn =k + 1.

by i), ii) (Mathematical Induction)
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a = b (mod c)

@ a=b(modc) = d"=D" (mod c)

1) The statement is true for n = 1.
a = b (mod c)
i) Assume the statement is true for n = k.
a=b, d =b(mod c)
ax a =bx b(mod c)
a*! = p**1(mod ¢)
The statement is true forn =k + 1.
by i), ii) (Mathematical Induction)
s.a=b(modc) = a" =b" (mod c)
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